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SECTION - II

MATHEMATICS
26. Rutuja had some amount. She distributed it among 47 students. When she

Q2
o

>

gave Rs. 50 to each student, Rs. 37 were left with her. How much amount
did she have?

4

0.0

O
D

Q)
D

&

(1) Rs. 2350 (2) Rs. 2387
(3) Rs. 2313 (4) Rs. 1897

27. 2 lakhs + 13 thousands + 72 hundreds + 38 tens + 13 units = ?
(1) 220593 (2) 213733813
(3) 22033813 (4) 220393

28. 2 tens + 3 units + 5 hundredth + & one tenth = ?
(1) 23.58 (2) 2358
(3) 2385 (4) 23.85

29.  Select the incorrect option from the given alternatives.

I Ream = papers
(1) 20 quires (2) 40 gross
(3) 480 sheets (4) 40 dozen

30. The sum of two numbers is 39.62. If one number is 1.259 then what will be
the other number?

(1) 2.703 2) 27.03
(3) 38.361 4) 40.879

SPACE FOR ROUGH WORK
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30.

2o - 11
380

Soedes &5¢ 08 se)) GOBD. TR S500& &55& &)mégg 50 ox.© DD, 47 Do
DORF0. e S 37 Tr.e0 orveme, e8RS J0EE oG G, GOGID?

(1) 2350 (2) 2387
(3) 2313 (4) 1897

2 ogeo + 13 Ben + 72 Soceo + 38 Heoen + 13 egn = 08?2
(1) 220593 (2) 213733813
(3) 22033813 (4) 220393

2 Do t 3 eggn t 5 Fmossn + 8 SwoTEn = Q08?
(1) 23.58 (2) 2358
(3) 2385 (4) 23.85

800 HORODHINS? HO WDFIEBODE D0, S2R0S.

I 50 = S2ABS500
(1) 20 ciren (2) 40 Fdoen
(3) 480 (4) 40 cesoen

8ot Hogxu® Bo0Fo 39.62 row. eSS0 el D08y 1.259 e9000:5 Bocsss S0 DO?
(1) 2.703 (2) 27.03

(3) 38.361 (4) 40.879
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31. What will be the simple interest on the principal of Rs. 5000 at 7 p.c.p.a in

3 years?
(1) Rs. 10500 (2) Rs. 105
(3) Rs. 1500 (4) Rs. 1050

32. Neha walks daily to complete 5 rounds along a triangular ground whose every
side is 100m. Then, How much distance does she cover walking around the
ground in one week?

(1) 12 km

(2) 3 km 500 m
(3) 14 km 500 m
(4) 10 km 500 m

33. Select the correct option from the following expressions.

(1) 24 — 12+ 3 x5=27

2) 18 -10+3 x2=2
3) 15x12-2+4=176
4) 18 +30+3 x2 =32
34 Which of the following angles has measured less than % times of 360°?
(1) Right angle (2) Obtuse angle
(3) Acute angle (4) Reflex angle

SPACE FOR ROUGH WORK
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32.

33.

34.

500 odrahes Soll &SI 7 R VRN 3 ROSBTROL OB (ﬁé D0 ?
(1) 10500 oI (2) 105 o
(3) 1500 @i (4) 1050 oI

Sar ©86% 100 Lo. gomsore @8%p5d Booessn By 5wty D ey

BODOR. OB B &5 R0 JOPRED B0 0B (PSS DB/ ?
(1) 12 88,

(2) 3 88. 500 &o.

(3) 14 8%0. 500 %o.

(4) 10 &%0. 500 %o.

BoRanBE? HITHENO HDOGHD 23N [DBEP,0D0 HE0E.
(1) 24 — 12 +3 x5=27
2 18-10+3 x2=2

3) 15

X

12 -2+ 4 =176

4) 18 +30 + 3 x 2 =32

—

800 8 9 Sl §o5 360° Bws, 4 S0 508 BB, €007
(1)  ©028%ss50 (2) e9s8%s0

(3) o 8dksn (4) oes558%00
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e
g 35. There are 1600 students in a school. What will be the number of boys in the
E"ﬁ school, if there are 48% girls?
= (1) 768 2) 832
S
= (3) 52 (4) 640
i
ﬁ 36. Joseph bought 2 pens at the rate of Rs. 12 and 50 paisa and 5 pencils at the
rate of Rs. 5 and 25 paisa. How much amount did he spend on his purchase?
(1) Rs. 17.75 (2) Rs. 51.25
(3) Rs. 35.25 (4) Rs. 37.25
37.
+ + = How much?
127 7
() 34 @ 14
127 1
3) i 4 5

38. Double of the common factors of two co-prime numbers is
(1) Smaller of the two co-prime numbers.
(2) Greater of the two co-prime numbers.
3) 1
“4) 2

SPACE FOR ROUGH WORK
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36.

37.

38.

8.8 DoBFOS0 Sozo 1600 DeegHen . es oS 48% epdsen %;6&55 £3eNO

00y D08 ?
(1) 768 (2) 832
(3) 52 (4) 640

25 12 e, 50p. 68 Boco Boeo @oamo 508, 25p. o8 5 1A, §%R.

®oD B BBI0 ), Tre §%HORen BAwo?

(1) 17.75 o (2) 51.25 o
(3) 35.25 o (4) 37.25 o>
+ + = 0o&?
127 7
D < @ 17
127 1
3) i 4 =5
B0t DTG DFOD DO aajaé& SO0EFO5S0 A3, Bocd 3en OGN,

(1) Boco DODG (DO K)ngé@esﬁ DS, Doy
(2) Boco DODG (DO K)ngtsoéﬁ DG Do

3) 1
4) 2

SPACE FOR ROUGH WORK
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Instruction for Question No. 39 and 40.

Solve the questions referring to the pictorial diagram given.

Scale : (1 @ = 20 trees)

Participating schools in tree plantation No. of trees planted
Dnyanda Vidyalaya @ @ @ @ @
Vidya Niketan School @ @ @
Z. P. Primary School @ @
Sadhana Vidyalaya Cz.;} Cz.;} Cz.;} Cz.;}
Adarsh Vidyalaya @ @ @
39. How many more trees did Dnyanada Vidyalaya plant than Sadhana Vidyalaya?
(1 1 2 9
3) 20 4) 50
40. How many trees were planted in all, by the participating schools during the
tree plantation programme?
(1) 17 (2) 340
(3) 20 4) 170
41. Eight thousand seven hundred and twelve + Twelve thousand seven hundred

and fifty = How much?
(1) 21462 (2) 22462
(3) 20962 (4) 21962

SPACE FOR ROUGH WORK
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9,39 0o B4, 40

39.

40.

41.

Q05 - 808 DBTHD VST esgypsorm |8o0d) BB 2357200 T2oDO0.
(©Sesasdon ¢ 1 @ = 20 [exn

5.528%0e0550063° DS T3S B DO
O™ o &) oc))
BB

® &

S e@aHSN
& s

&)méﬁ)éés SBFO

BeR HOAS [DGFAT DeETO

opIaty) &)ogseo:basaa

Clale} g)méeoiaaﬁw @ @ @

D DIREOADT0E0E DI DTRE@ADED DY), BeR DE,SM D& ?

(H 1 2) 9
(3) 20 4) 50

S LR
s LR
%> R

&

S8 SOIEDE0S? S, oo B0 IV, B TBD?
(1) 17 (2) 340
(3) 20 4) 170

DA VO DES0BO DI + WP BLD HEITED BEV=D0S ?
(1) 21462 (2) 22462
(3) 20962 (4) 21962

SPACE FOR ROUGH WORK
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42.

43.

44.

45.

Soham exchanged 6 notes of Rs. 2000 with equal number of notes of Rs. 100
and Rs. 50. How many notes of Rs. 100 will he get?

(1) 120 (2) 40
(3) 80 4) 160

Using the digits 3, 2, 5, 0, 8 atleast once, a smallest 6 digit odd number is
formed. What will be the product of the digits at one’s and hundred’s place?

(1) 24 (2) 40
(3) 15 4) 16

Nisha sold an article at Rs. 1730 which she had purchased at Rs. 1350. How
much profit or loss did she make?

(1) Rs. 420 profit (2) Rs. 380 loss
(3) Rs. 420 loss (4) Rs. 380 profit

A cube is formed by folding the adjoining figure.
Which digit will not appear on the cube, to the
adjacent side of 4?

(1) 16
2) 36
3) 25
4 9

36 | 16

25

SPACE FOR ROUGH WORK
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42.

43.

44.

45.

Phro @Sg 2000 tr.o 6 e armSR 100 sreo seamo 50 r.e S0
SIS0 HBHER. @ond @Edg 100 or.o 55313 I, ©DoBI?

(1) 120 (2) 40
(3) 80 4) 160

3, 2,5 0, 8 &8 ewogodd &5 @085 5950 e5000 BDATAD 3t 08w 0§D I,
B D0gyR0 BOWPED BAJDE D 85 S0AOTO DO PIINED @8O ©PSD D0B?

(1) 24 (2) 40
(3) 15 4) 16

e 1350 tr.on &m08%, essi 1730 or.on @@, 88 SEatansd esBomn
DO egPSn S5 FHAN WORD?

(1) 420 or.o ergswn (2) 380 or.o Shso

(3) 420 or.o Fhs0 (4) 380 or.o eregssn

808 35,8 SO TBOGRPBE PSSP :oq)&éss, 4 e03re

BOS0E (D508, BoS00S) O 908 Teeso?

1) 16 > 1 4
) 36 36 | 16
3) 25 25

“4) 9

SPACE FOR ROUGH WORK
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46.

47.

48.

49.

Which of the following statements is FALSE, with respect to triangular numbers
and square numbers.

(1) Half the product of 2 consecutive numbers gives a triangular number.
(2) 1 1s triangular as well as square number.

(3) When a number is multiplied by the number itself, the result is a square
number.

(4) The product of two consecutive numbers is a triangular number.

What will be the 5t number, from left side when the 2 digit numbers divisible
by 12 are arranged in descending order?

(1) 60 2) 12
(3) 48 4) 36

Out of 12 km 300 m distance, Afroz covered 9 km 500 m distance on bicycle.
She covered the remaining distance running. How much distance, did she cover

running?
(1) 2.8 km (2) 2.800 m
(3) 3.200 m (4) 21.800 km

For a trip in the month of May, Swara booked air tickets in advance for
Rs. 5780. Due to some reason, she had to cancel the ticket. She got an amount
back with the deduction of 30%. How much loss did she suffer?

(1) Rs. 1734 (2) Rs. 1534
(3) Rs. 1724 (4) Rs. 1504

SPACE FOR ROUGH WORK
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46.

47.

48.

49.

[©8023a500 $0OATN FETD DOPL> H0200P0D 0D FBSS DO DB, TS0,
(1) Bowo 563 DORO OBV VIS0 D50 | Bewes D0y ©8)0WO0.

(2) 1 20 Bgba 500050 SEOE DO LD

(3) BSRAES Togd B DoPE MHEBOBM Sy Doy SWOD DOy LIV

(4) 3o SED BoPEDO MHEBODIS (Bebes ©0g) OEOBO.

12 3 grA0Badse Bomose Do @N8%Hrn [550a0e? @S JESoPR) B00d
5B,y 065 Dogy DO?

(I) 60 2 12

(3) 48 4) 36

8% Joogo 12 8.80. 300 . roeR), WoreBodi. @ 9 8.8, 500 Lo, wroed),
2BES DATPBoRI® VOO AT (PR, B DONEYEOLD DA WOVD B
DONREE0ED OB (SPCO DA ?

(1) 2.8 28. (2) 2.800 &o.
(3) 3.200 8. (4) 21.800 2.8

Poe B S DoveosH VB 008 §OsTH 5780 Sr.o8 Do B88 dERW.
R §9), somre 59 e GBS 6y SwERW. 30% Gy, BAD Qo Sy, B0
AR, DOV 0B FRSD 23R ?

(1) 1734 o 2) 1534 o

(3) 1724 o (4) 1504 o

SPACE FOR ROUGH WORK
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50. Which of the following statements is false?

0
&

(1) Cuboid is three dimensional.

(2) Cuboid has 12 edges.

(3) All surfaces of a cuboid are square in shape.

0.

O
D

(4) Length, breadth and height of a cuboid can be measured.

Q0
&

&

51. How will you write twenty two thousand two hundred and fifty in international
number system?

(1) 22150 (2) 340
(3) W40 (4) 22250

52. What is the perimeter of the adjacent figure?

2 cm
5
g 2 cm ~
9
° z
(5]
(o}
2 cm
5
(o]
4 cm
(1) 16 cm (2) 36 cm
(3) 18 cm (4) 30 cm

SPACE FOR ROUGH WORK
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50. 808 S3S0 L& 8D,

(1) &g sosesxn IBBOTOT S0,

(2) OF POTSVID 12 0BOD SOOI
(3) 87 o5 eDFEOINL BEGEISES0E 0GB
(4) é;g POV AB0T, MY, JELY, SIVOTD IEOR ELDWIEND &Sey0.
51. ‘atdp Botooerd) e’ 88 D050 @oSmEAD D0gR@DnS0S? der Taho?
(1) 22150 (2) 3320
(3) R340 (4) 22250

52. 808 es5® GBws, Wegsles O, 0.8, e ?

2 20.90.
“ 4
e S
N=) e
2 20.8o. o _
3
b
8 2 20.80
a
4 20.80.
(1) 16 20.%o. (2) 36 20.%o.
(3) 18 20.%n. (4) 30 20.%.

SPACE FOR ROUGH WORK
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53.

54.

5S.

56.

Dilip purchased a motorcycle for Rs. 35900. He spent Rs. 3780 on its repairs.
After some days, he sold the motorcycle for Rs. 40750. How much profit did
he make in this transaction?

(1) Rs. 1070 (2) Rs. 4850
(3) Rs. 36970 (4) Rs. 32120

At a ration shop, 85 sacks of wheat, 50 sacks of rice and 15 sacks of tur dal
was available for sale. If every sack contained 40 kg of grains, How much
grains in kilograms, were available for sale?

(1) 150 kg (2) 600 kg
(3) 6000 kg (4) 4000 kg

Which amongst > , < or = will be appropriate to fill in the boxes between,
the below given fractions.

3 6 7
sl l)y
m =.> @ <. <
@ >. < ) =.<

Pick out the wrong statement from the given statements.

(1) The product of any number and zero is zero.

(2) Multiplication of odd number with other odd number results in even number.
(3) Multiplicant x Multiplier = 0. Then either Multiplicant or Multiplier is zero.

(4) When same digit appears at the one’s place in two numbers then 8 will
not appear in one’s place of their product.
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S3.

54.

5S.

56.

295 35900 tr.080 5 ared 28S §930. 0 $EEHo 3780 trr.en P, e
§% 8o Soog OOD e 3red 28550 40750 tr.o @B, S SEHTI0S SR8
Q0B g0 SH0?

(1) 1070 o (2) 4850 w
(3) 36970 o 4) 32120 o

a5 Dot oserd8 85 adne Mmsven, 50 adre Hano, 15 e sodH®,
WS0RE 5By, 88%5, S 40 8. I @RS e D5e0sRE 30Lo I,
.. 0 SR8 $B0?

(1) 150 2. (2) 600 &.qm.
(3) 6000 &.m. (4) 4000 8.

8od oo DEyTo grdodd >, < 5 = DB BrrPos O DDmE0 @02

3 6 7
sl gl]o
1 =.> @) <. <
3 >, < ) =<

8o® 8BS 9O BT @IS HYoOSL.

(1)  e530%; aS0oasn 0F, C3005, ©YSD KOS, S550y%0.

(2) a5 3D K)oaoégs o) 08y B0 23a0e 09 R0g)y 5y%0.

(3) moeEn X m@ssn = 0 @0nsS eEn S5 MesEn K0P, G0

4) 93 B0oEd HDOP® B AISVS? DSPS W08 BI D0 ORIV AB0E, L8
) > o ARV I} é >
@v@éé&aéﬁ 8 @08 o0
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57.

8.

59.

60.

61.

Roshni needed 1 hr. 30 min. to travel from Nagpur to Wardha. She took rest for
15 min. She completed Wardha to Yavatmal distance journey in 1 hr. 50 min.
If Roshni had started from Nagpur at 10 in the morning then at what time
will she reach Yavatmal?

(1) 20 min. past 1 (2) 35 min. past 3

(3) 35 min. past 1 (4) 35 min. past 12

The labour charge to paint a rectangular wall at the rate of Rs. 45 per sq.m.
is Rs. 2700. If the length of the wall is 15 m, what must be the breadth of
the wall?

(1) 3 m (2) 180 m

(3) 60 m (4) 4 m

12 kg + 1350 gm = How much?
(1) 1362 kg (2) 1362 gm
(3) 13.350 kg (4) 13350 gm

Yogesh received Rs. 72 and 5 paisa as interest on his deposits in bank. How
will you write this in decimal form?

(1) Rs. 72.05 (2) Rs. 725

(3) Rs. 72.50 (4) Rs. 72.005

A merchant bought 300 sacks of wheat at Rs. 2500 per quintal. Due to heavy
rains, 70 sacks of grains were destroyed. He sold the remaining sacks at the
rate of Rs. 2700 per quintal. How much profit or loss did he make in this

transaction?
(1) Rs. 60000 profit (2) Rs. 129000 loss
(3) Rs. 175000 loss (4) Rs. 46000 profit
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57.

58.

59.

60.

61.

89NB8 TS Sood SP@ (HorBosowsd 1ot 30 dospen Do, 15 dRogeen
DB0d B0ED 3R Sp 3oof oDS&IrSL 1 ot 50 DD (HOITE0 PO
B, BB rrs ©008 oo 10 Hoees 20Hendons? cHSESrPSE I,
0805 BHERNI?

(1) 1 moe> 20 dosween (2) 3 oo 35 doaren

(3) 1 roes 35 DRoapen (4) 12 rote 35 DRoapen

e85 Y SBOTRITTED 1o fosgd sord Jomots & $5.80.5 45 or.e %, 2700
oe.00 5D P, emd®. {5l a8, M 15 . @onsSd Sen, IR, Doeod eocHwd?
(1) 3 &v. (2) 180 &o.

(3) 60 &o. 4) 4 %o

12 & m. + 1350 [m. = Do&?
(1) 1362 8. . (2) 1362 .
(3) 13.350 8&.m. (4) 13.350 (.

BrRED e 15 DEE BoRP B, Botd TR DD PIO 5§ ©DOB. WO
B8 DOPGH 5F0F HIFNSD der TOTOEED?

(1) 72.05 o (2) 72.5 o>
(3) 72.50 o (4) 72.005 oI

e85 @00 2500 or.e0 oeren 558 300 Fdesoso EALSLION) D083 S0. SIZVE
S50 506380 70 2O ORGS0 BDEIHAA[. ot [ DMOT0 G E0erensd
2700 s 680 @R, B8 SIS WBVF ergAr? SHIT? SO 0B ?
(1) 60000 sx.e0 eregsn (2) 129000 or.e0 mxeE0

(3) 175000 ow.e0 &5 (4) 46000 orw.e0 ewgss0
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62.

63.

64.

65.

66.

For flood victims at Kolhapur, 5 social organisations contributed Rs. 12870,
Rs. 13850, Rs. 9640, Rs. 25390, Rs. 7450 respectively. How much total relief
fund was collected?

(1) Rs. 126250 (2) Rs. 222910
(3) Rs. 66750 (4) Rs. 69200

During a 3 day Drama festival, at the auditorium, out of 1250 seats, 12% seats
remained vacant on the first day, 10% seats were vacant on second day and
on third day 4% seats remained vacant. How many seats remained vacant in
total, during the three days?

(1) 150 (2) 250
(3) 325 4) 350

If 15t March is Monday, then which day will occur 5 times, in that month?
(1) Thursday (2) Wednesday
(3) Friday (4) Saturday

If the radius of a circle is % cm, then what is its diameter in cms?
(1) 3.5 cm (2) 14 cm
3) 35 m (4) 7 cm

The numbers 78312, 78135, 78351 and 78531 are arranged in descending order.
What will be the sum of the 15t number and 3™ number from the right side?

(1) 156882 (2) 156447
(3) 156843 (4) 156446
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62.

63.

64.

65.

66.

EoeprESID SEE ePEEOR BITEEE0 §n0 e dar-pogen sowme 12870 or.ev,
13850 ome.en, 9640 ome.en, 25390 or.en, 7450 tr.en JPaD0 DA, ©ONF J00BO
A, Tr.© JH*ADO 23008307

(1) 126250 oI (2) 222910 o
(3) 66750 oI (4) 69200 o

So°es> Blere meatsmé“ﬁé%éo %55 &8 aepme):rmé% 1250 gaéaoesﬁ 30065683 S 12%,
Bosss Bl 10%, sooeess B 4% ben grdm @odi. @ons & S Slwedd
30080 AN, éaéom 208 &0R0?

(1) 150 (2) 250
(3) 325 4) 350

15 SO DVSIVPTO (0D, AD €3 0SS D FESH LD eplob) 5563053?
(1) rosaessn (2) engaess0

(3) B0 (4) #5550

&8 SpaRRgas0 % 20.80. o). oS ol DHSD DY), 20.80. &0 ?
(1) 3.5 2o 2) 14 2o,
(3) 3.5 o 4) 7 20.8.

78312, 78135, 78351, 78531 moporo es58%rn5toos? RS 9wy 00
00563 D0gy SIOOI0 BORJY)R00E 807755 Dog® J0BSO 0B ?

(1) 156882 (2) 156447
(3) 156843 (4) 156446
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67.

68.

69.

70.

71.

Fifteen litres two hundred ml. — Thirteen litres five hundred and
thirty ml. = How much?

(1) Two litres six hundred and seventy ml.

(2) 1.670 ml.

(3) One litre six hundred and seventy ml.

4) 2.670 ml.

Which of the following is completely divisible by 3?
(1) 7553 (2) 1733
(3) 2352 (4) 9851

Which of the following expressions is equivalent to the fraction %‘?

(1)

)

Wl

. Uoo
=P v

5 -
4
B s+ “4)
Pranav wants to buy a plot for Rs. 2417300 but he has Rs. 712300 with him.
He will have to arrange the remaining amount from bank loan. How much

amount should he borrow as loan?

(1) Rs. Seventeen lakhs five thousand
(2) Rs. Seventeen lakhs fifty thousand
(3) Rs. Seventeen lakhs

(4) Rs. Seventeen lakhs five thousand and three hundred

12 hours 18 min. — 6 hrs. 45 min. = how much?
(1) 5 hrs. 73 min. (2) 5 hrs. 33 min.
(3) 5 hrs. 78 min. (4) 6 hrs. 27 min.
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67.

68.

69.

70.

71.

DD DT Botd 05w OV — DEFIPE DT DES0Ee S0P oODED = 0B ?
(1) Bowdexs estosose ag, 0O deors.

(2) 1.670 20 dexn

(3) &5 D esosose 3F, OO

(4) 2.670 200 deon

208 3830 O Bogy 33 AZHNOM gRA0HRIEID ?

(1) 7553 2) 1733
(3) 2352 4) 9851
% 88 HIED 80O DOADSNOS) BB DITRZOND?
2
ny 3-2 @ §-%
4 2
G) F43 @ 5+

eadSs 2417300 .80 e.5apen %08 9)0d. 5 B &g 7112300 or.en STB0NDD).
QorfEe 520300 EROE W0& 20080 BB, TP OB PO W& DB e,

2000830 §:308 %530 ?
(1) Do o5 oden
(2) DT oge aTegSen
(3) oI egeo

(4) D00 5w DEOIO SIPED S0seD

12 o. 18 d. — 6 0. 45 . = dog?
(1) 5 0. 73 . (2) 5 o. 33 dw.
(3) 5 0. 78 . (4) 6 o. 27 dw.
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72. What is the sum of all the divisors of 90?

0
&

‘i’
mA

(1) 233 (2) 228

<2
S

e
e

Q
&

(3) 204 4) 234

0.0

O
D

Q0
&

&

73.  If the fractions are arranged in ascending order, what will be double of the

fraction at the second last place?
1 1 1
4 9 9 8 9 2 9 5
(1)
3)

N— M gj—
~
¥
N—

74. Ramesh and Sudha deposited same amount at two different places. Ramesh got
interest at 8 p.c.p.a. and Sudha got interest at 7.5 p.c.p.a. If Ramesh has got
Rs. 500 more than Sudha, then find the amount that Ramesh had deposited.

(1) Rs. 100000 (2) Rs. 50000

(3) Rs. 7500 (4) Rs. 150000

75.  Choose the correct option to fill in the box.
932004 — [ | = 59896
(1) 991900 (2) 927892

(3) 857898 (4) 872108
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72.

73.

74.

75.

90 G308, @R, FREEINO S0BS0 D08 ?
(1) 233 (2) 228

(3) 204 4) 234

ASES HIFVOMH ebisrn E00S @IS VSO Wod Boks HIED GBS, B0k

Ben D0?

1 2 @ 2
3 + @ 3

508 YOO DGR &5 V0SB0 ST DIATPON (5T DD DD ERODHOE’ Faod
Bmero. oBoF% Dol SFI 8 8 DS S080T» W woll AFl & 7.5 s 5
©DoBW. ©oNB 60D WEEod 500 tr.en I ©HoVSE? TIE dod ey, S
Garel SR 72

(1) 100000 (2) 50000

(3) 7500 (4) 150000

grdS? 53, APrPOP WaeT RSB
932004 — [ | = 59896
(1) 991900 (2) 927892

(3) 857898 (4) 872108
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